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QUESTION 1

Refer to the exhibit. 

The EEM script overrides all events in the system policy. What should be added to the script to resolve the issue? 

A. event statement 

B. environment variable 

C. event-default action statement 

D. configure terminal action 

Correct Answer: A 

 

 

QUESTION 2

Refer to the exhibit. 

An attempt to bind the Ethernet interface to vFC fails. Which action resolves the issue? 

A. Add the FCoE VLAN to the allowed VLAN list. 

B. Configure the FCoE VLAN that corresponds to the vFC VSAN as a private VLAN. 

C. Configure the interface as a trunk port. 

D. Configure the interface to use the native VLAN of the trunk port. 

Correct Answer: C 
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QUESTION 3

Refer to the exhibit. 

The expected routes are not being leaked as expected from VRF RED to VRF BLUE. Which action resolves the issue? 

A. Include the "le 32" knob under the RED_TO_BLUE_ACL prefix list. 

B. Change the route targets under the VRFs. 

C. Configure VRF BLUE under the BGP configuration. 

D. Set the community to 65000:65000 under the route map. 

Correct Answer: D 

 

 

QUESTION 4
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Refer to the exhibit. 

The initiator that has FC ID 0x970102 fails to communicate with the target that has FC ID 0x970200. Which action
resolves the issue? 

A. Reconfigure the initiator and the target to be in the same zones. 

B. Reactivate the zoneset. 

C. Reset the port for FC ID 0x970102 and FC ID 0x970200 to log in to the fabric. 

D. Reset the port for FC ID 0x970209 and FC ID 0x9700c2 to log in to the fabric. 

Correct Answer: B 

 

 

QUESTION 5

Refer to the exhibit. 
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A network engineer must use BGP to route IPv4 and IPv6 routes between R1 and R2. The IPv4 addresses are
exchanged as expected between the routers through BGP. The routers have reached an Established BGP state.
However, the IPv6 routes from R2 fail to show in the routing table of R1. Which action resolves the issue? 

A. Create a route map that sets the IPv6 next hop. 

B. Advertise L2VPN EVPN under IPv4 unicast address family 

C. Configure an IPv6 BGP neighbor on R1 

D. Enable IPv6 routing on R1 

Correct Answer: A 
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